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TIME AND WORK

1. Work from Days:

.
ITA can do a piece of workl in m days, then A's 1 day's work = =

2. Days from Worlk:

1
ITA's 1 day's work = E__ then A can finish the work 1n 17 days.

2. Ratio:

ITA 1S thrice as good a workman as B, then:

~alliootTwork done by Aand B =3 1.

~atlo of iimes taken by A and B 1o finish a work = 1 © 3.

27/01/2025 TIME AND WORK/23GET276 - VQAR 1/K.SURIYA/ECE/SNSCT 2/20



TIME AND WORK e

LISTITUTION S

Aocan do awork in 15 days and B in 20 days. IT they work on it together for 4 days, then the fraction of the work that

is left is :
1
A_ —_
2
.1
E_ —_
10
Fil
=. —
15
]
D. —
15

Answer: Option D

Explanation:

A= 1 day's work =

15

1
B's 1 day's work = —

20
Ao+ BYs 1 day's work = L+L -
( ) ¥ ) o 15 20) B0
A4+ Bis 4 dav's work = i}li-ﬂ- _i
( ) ¥ ) — L a0 15

. T g
Therefore, Remaining work = 1 - —— = —
15 15
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TIME AND WORK e

LISTITUTION S

A can lay railway track between two given stations in 16 days and B can do the same job in 12 days. With help of C,
they did the job in 4 days only. Then, C alone can do the job in:

;
A. 9— days
)

2
B. 9= days
b

=
. 99— days

o

D. 10

Answer: Option C

Explanation:

’
A+ B + C)s 1 day's work = a4

A's 1 day's work = —

16
1
B's 1 day's work = —— .
12
i I:'S‘In::lav'awc-rl-::—l L+L B N
. : 4 |16 1z la  as]  as
45 =
So, O alone can do the workl in = = EE days.
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TIME AND WORK

A, B and C can do a piece of work in 20. 30 and 60 days respectively. In how many days can A do the work if he is
assisted by B and C on every third day?

A. 12 days
B. 15 days
C. 16 days
D

18 days

Answer: Option B

Explanation:

: :
Als 2 day's work = [ﬁ 12] = 10
A+B+Cysidayswork= | — + — + —| = = = L
( ) ¥ “l20 T30 Te0) T B0 T 10

1 1
: N L L
Work done in 3 days [1[] 1[]]

.1
MO, = work is done in 3 days.

Whole work will be done in (3 X 5) = 15 days.
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TIME AND WORK

A alone can do a piece of work in 6 days and B alone in & days. Aand B undertook to do it for Rs. 3200. With the
help of C. they compleied the work In 3 days. How much 15 {o be paid to C7

A. Hs 375
B. Hs 400
C. Hs. &00
D. Hs. &00

Answer: Option B

Explanation:

Cs1davswork= & - |+ 4 4] =1L 1
Y 3 e 8] 3 24 24
1 1 1

A's Wages . B's Walges . C'S‘-’-."E_QIES= — - — =4-3-1.
6 8 24

.
. C's share (for 3 days) = Rs. [33{ 24 X SEDD] = Rs. 400.
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TIME AND WORK

A can do a piece of work in 4 hours; B and C together can do it in 3 hours, while A and C together can do it in 2
hours. How long will B alone take to do it™

A. S hours

E. 10 hours

C. 12 hours

D. 24 hours

Answer: Option C

Explanation:

.1
A's 1 hour's work = 1 :

.1
(B + C)¥s 1 hour's work = Y :

.1
(& + CY¥Ys 1 hour's work = >
A+ B+ C)s 1 hour's work = 1 + L
( /  la 3] 12
B's 1 hour's work = l l = L

1z 2] 1z

B alone will take 12 hours to do the work.

7/20
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TIME AND WORK 5

LISTITUTION S

A can do a certain work in the same time in which B and C together can do it. If A and B together could do it in 10
days and C alone in 50 days, then B alone could do it in:

A. 15 days
B. 20 days
C. 25 days

D. 30 days

Answer: Option C
Explanation:

1
(A + BYs 1 day's work = ——

10
’
C's 1 day's work = ——
50
A+B+CYs 1dayswork= | — + ——| = & - 3 -
( ) ¥ ) 1o s0)] — B0 =5 - W
Als 1 day's work = (B + C)'s 1 day's work .. ({ii)
) y =
From (i} and (i), we get: 2 x (A's 1 day's work) = ==
— A'S 1 day's work = =
L 5D.
. B's 1 day's work | — e L
o yoE 10 " so0) T s0 T 25

So. B alone could do the work in 25 days.
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TIME AND WORK 5

LISTITUTION S

Acan finish a work in 18 days and B can do the same work in 15 days. B worked for 10 days and left the job. In
how many days, A alone can finish the remaining work™?

A. D
.
B. 95—
2
c. B
D. &

Answer: Option C

Explanation:

1 =
B's 10 davy's worlk = — x 10 = —
¥ 15 ] 3

2 1
Remaining work= [ 1- =| = —

1
MOy, E work is done by A in 1 day.

1 1
5 work is done by A iﬂ['lﬁ X E] = b days.

27/01/2025 TIME AND WORK/23GET276 - VQAR 1/K.SURIYA/ECE/SNSCT 9/20



TIME AND WORK

Aand B can together finish a work 30 days. They worked together for 20 days and then B left. Afier another 20
days, A finished the remaining work. In how many days A alone can finish the work?

A. 40
EB. 50
c. 54
D. &0

Answer: Option D

Explanation:

1 2
A+B)ys20day'swork= |- x20| = —

2 1
Remaining work = [1 - E] = —.

1
MNow, 3 work is done by A in 20 days.

Therefore, the whole work will be done by A in (20 x 3) = 60 days.
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TIME AND WORK

P can complete a work in 12 days working 8 hours a day. @ can complete the same work in 8 days working 10
hours a day. If both P and Q work together, working 8 hours a day, in how many days can they complete the work?

A 52
11
B 52
11
e - el
11
o &2
11

Answer: Qption A

Explanation:

P can complete the work im (12 x 8) hrs. = 96 hrs.
O can complete the work im (8 x 10) hrs. = 80 hrs.

1 1
-- FP's1 hour's work = — and &'s 1 hour's work = ——.

o S0
P+ G)s 1 hour's work = 1 + 1 S
( ) - las s0)  aso

) o . 450
So, both P and O will finish the work inm 11 nrs.
450 1 a0 o>

- MNumber of days of & hours each = [: 11 o E:] = q1 days = SF days
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TIME AND WORK

10 women can complete a work in ¥ days and 10 children take 14 days to compleie the work. How many days will 5
women and 10 children take io compleie the work’™?

A, 3D

B 2

c. 7

D Cannot be determined
E MNone of these

Answer: COplion C

Explanation:

.1
1 woman's 1 day's work = —
7o

1 child's 1 day's work = ——
140

. : , B 2 10 7 1 1 B
(2 women + 10 children)'s day's work = [TD + 14[]] = [14 + 14] =

2 women and 10 children will complete the work in 7 days.
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TIME AND WORK

Ravi and Kumar are working on an assignment. Ravi takes & hours to type 32 pages on a computer, while Kumar
takes 5 hours to type 40 pages. How much time will they take, working together on two different computers to type
an assignment of 110 pages’?

A. 7 hours 30 minutes
B o hours

C. & hours 15 minutes
D

o hours 22 minuites

Answer: Option C

Explanation:

2
NMumber of pages typed by Raviin 1 hour= — = —.

40
Number of pages typed by Kumar in 1 hour= — = §.

o
i 16 A0
MNumber of pages typed by bothhin 1 hour= | — + & | = S
L
i 3
Time taken by both 1o type 110 pages = 110 x Ej hours
L

.1
= BE hours (or) & hours 15 minutes.
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TIME AND WORK

A, B and C can complete a piece of work in 24, 6 and 12 days respectively. Working together, they will complete the
Same Workl in:

.1

A. — da
24 ¥
r

B. — da
24 ¥

5
C. 33— davs
- Y

D. 4 days
Answer: Option C
Explanation:

4
Formula: IT A can do a piece of work in n days, then A's 1 day's work = —.

i1
A+ B+ C)s 1 day's work = 1 + 1 + LI
( ) ¥ 24 5 12 ) 24
1
Formula: IT A's 1 day's work = o then A can finish the work in n days.
_ _ _ 24 2
=0, all the three together will complete the job in = days = 3? days.
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TIME AND WORK

Sakshi can do a piece of work in 20 days. Tanya is 25% more efficient than Sakshi. The number of days taken by
Tanya to do the same piece of work is:

A. 15
B 16
c. 18
D. 25

Answer: QOption B
Explanation:
Ratio of imes taken by Sakshi and Tanya = 125 100 =5 4.

Suppose Tanya takes x days to do the work.

4 x 20
24120 = x= [T]

— X = 16 days.

Hence, Tanya takes 16 days to complete the work.
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TIME AND WORK

Aand B can complete a work in 15 days and 10 days respectively. They started doing the work together but after 2
days B had to leave and A alone completed the remaining work. The whole work was completed in :

A. & days
B. 10 days
C. 12 days
D

15 days

Answer: QOption &

Explanation:

1 1 1
+ ! ! ’ = _ 4+ — = —
(A + B)s 1 day's work 15 1[]]

1 1
Work done by A and B in 2 days = [E = E] = E-

1 2
Hemaining work = 1 - — = —.

1
MO, 15 work is done by A in 1 day.

2 2
E work will be done by a in [15 x E] = 10 days.

Hence, the total time taken = {10 + 2) = 12 days.
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TIME AND WORK

A works twice as fast as B. IT B can complete a work in 12 days independently, the number of days in which A and B
can together finish the work in -

AL 4 days
B. 6 days
C. & days
D 18 days

Answer: Option A
Explanation:
Ratio of rates of working ofAand B =2 - 1.

=0, ratio of times taken = 1 2.

.1
B's 1 day's work = — .
12

.1
A's 1 day's work = s (2 times of B's work)

1 1
A+BYys1dayswork= [ = + — | =

3 1

12 4

So. A and B together can finish the work in 4 days,
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TIME AND WORK 5

LISTITUTION S

Twenty women can do a work in sixteen days. Sixteen men can complete the same work in fifteen days. What is the
ratio between the capacity of a man and a woman™

A. 34
B. 4:3
. 513

D. Data inadequate

Answer: Option B
Explanation:

(20 x 16) women can complete the work in 1 day.

.1
- 1 woman's 1 day's work = ——.
320

(1 xX 15) men can complete the work in 1 day.

.1
-1 man's 1 day's work = ——
240

1 1
So, required ratio = — I ——
240 320

.1

L
3 4

=2 (cross multiplied)
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TIME AND WORK

LISTITUTION S

Acocan finish a work in 24 days, B in 9 days and C in 12 days. B and C start the work but are forced to leave after 3
days. The remaining work was done by A in:

A. D days
B. b days
. 10 days

.1
D. 10— days
s

Answer: QOption C

Explanation:

1 1 7
B + CY¥s 1 davy's work = — + — = — .
¢ . : [9 12]

Worlkk done by B and C in 3 days

I
0
m||“J

w2

ta
N

I
o)

I

Fi

2
Hemaining work = [1 - —j = —

12 12

.1
PO, o work is done by A in 1 day.

o o
S0, — work is done by Adin [24 b E:] = 10 days.

12
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